
Word Problems 

 

 
Now see if you can make up your own word problem and challenge your grown 

up to answer it! 

Problem 

 

Working Answer 

There are 23 cakes in 
each box. Sue buys 3 

boxes. How many cakes 
are there altogether? 
 

 

 

 

 

 

 

The train has travelled 
45 miles. The journey is 
double this length. How 
long is the journey? 

 

 

 

 

 
 

 

Footballs cost £4. Miss 

Stoll buys 34 for her 
class. How much does 
she spend? 
 

 

 

 

 

 

 

Vivien has 67p. Her 
brother has 6 times as 

much. How much does he 
have? 
 

 

 

 

 

 

 

Amanda works for 29 
hours each week. She 
gets paid £8 an hour. 

How much does she earn 
each week? 

 

 

 

 
 

 

The PE store has bean 
bags in 7 piles. Each pile 
has 42 bean bags. How 
many altogether? 
How many more are 

needed to have 100 
bags? 

 
 

 

 

 

 

A = 
 

 

B = 


